Cantonese ll
eek 8

i e
X
4
& w0
oy %
- k i 1
- T - '
= o
1 ke T



gwaail ge3 sai3 loub zai2
co3 ge3 kyut3 dingb

hou2 kan4 lik6 ge3 hok6 saangl
zeoi3 nin4 hingl ge3 bok3 si6
gam3 daaib ge3 jing2 hoeng2

ngo5 hou2 hoil saml
dil tongl hou2 haam4



Her dress 18 beautiful.

IiemS gin6 saam1 hou2 leng3 hou leng {Eﬁ-“%ﬁﬁ% It’s humid today.

gam1 jat6 hou2 sap1l 4 H ;G(‘Yg

but when used 1n this way, it does

i . ¢ ) ¢ r ,, i 2 5 -
héu %+ by itself can mean ‘good’ or Very tax of predicative adjectives,

not really mean ‘very’ but is merely part of the syn

Modifying adjectives

Other modifiers such as géi % ‘quite’ and gam Fif ‘so’ can appear n place of
héu 47, for example:

geil piu3 gei2 pengd D1 geipiu géi pehng I ZE 4652 The air tickets are quite cheap.
> g03 sau2 tai4 din6 nou5 gam3 gwai3  Léih go sautaih dihnléuh gam gwai Your laptop computer 1s SO
daan6 goul taai3 tim4 YRE T2 EREH & expensive.

cyun4 zeoi3 gan2 jiu3 Go daahn-gou taai tihm {5 ZEEKHH The cake is too sweet.

sing2 gau3 saai3 coengd Onchyiihn jeui ganyiu 7 &5 5% Safety is most important.

Tiuh sing gau (saai) chéuhng %I K The string is (more than) long
enough.



Reduplicated adjectives

Another strategy to modify the meaning
together with the suffix -déi

din % crazy — din-din-déi SE A

fi i bitter — fia-fi-déi 7 =

sau ¥ thin— sau-sdu-déi &= i

tim4 &H sweet — Tim4 tim2 dei2 g
nyun5 % warm - Nyun5 nyun5 dei2 Hﬁﬂ%ﬂfﬂl

une B bored/boring — Mun6é mun2 dei2 il P

of an adjective is reduplication

rather crazy

rather bitter

rather thin

rather sweet

rather warm

rather bored (or: boring)

Note the change to a high rising tone on the repeated syllable (see Unit 3): this
happens in all cases except where the original tone is high level (as in din-din-
déi JEREN ‘rather crazy’) or already high rising (as in fi-fa-déi w1 ‘rather
bitter’). These forms are used to qualify the force of an adjective:

dil zungl joek6 fu2 fu2 dei2‘ LT déi g
tiud gaail sapl sapl dei2 AT
tou3 hei3 mun6 mun2 dei2 éi 25k FE S

ngo5 gok3 dakl muné mun2 dei2  piin-déi iﬁa%’»?‘é‘fﬁ"ﬂﬁﬁﬁm
e e

Chinese medicine is rather
bitter.

The street is a bit wet.
The film was fairly boring
I feel rather bored.




ngo5 go4 gol hai2 jatl gaanl hou2 jau5 meng2 ge3 gungl sil zoub6 je5

keoi5 ukl kei2 jau5 go3

haak3 tengl
deoi3 min6 jau5 gaanl

caanl tengl

ngo5 zeoi3 gan6 tai2 zo2



mun5 zuk1

lek1
Gui6 ¥

dak1 ji3
£J8} tou3 hei3 long6 maan6
tau4 faat3...dyun2

gaalsilZ 4 pengs
gaau3 saub...ceotl meng?2
laan5

soeng?... leng3




dip6 sungl |

tinl hei3

faai3 min6
deoi3 ngaan5
baan6 gungl satl
lapl lau2
fu3 ngaan5 geng?2

lou5 gungl




keoi5 go2 zan6 si4 zung6 hai2 jil jyun2 '
ngo5 zikl hakl heoi3 jingl gwok3 taam3 nei5
ngo5 daib ji6 si4 heoi3 jingl gwok3 taam3 nei5

jid gaal gaml jat6
ji5 cin4 bun2 loi4

Kam4/cam4 jat6




zik1 hak1 dai6 (ji6) si4

tingl jat6 hau6 jat6

ngo5 deib ji4 gaal ceotl heoi3

keoi5 ngaam1 ngaam1 zau2 zo2

bun2 loi4 ngo5 soeng2 duké jil fol
tau4 sinl keoi5 m4 gei3 dak1 daai3 so2 si4




Sing4/ seng4 jaté

dol sou3
jaus (zan6) si4

jatlsi4 si4
tungl soeng4

ping4 si4

mui5 ci3

mui5 jat6

mui5 nin4
mui5 ziul

mui5 maan5




Translate the following into Cantonese using the adverbs we just learnt.
1.1was in Prague [bou3 laail gaak3] (yesterday)

ngo5 cam4 jat6 hai2 bou3 laail gaak3 F¢= H M4 L&

2. She arrived at the university (just now)

Keoi5 ngaam1 ngaam1 dou3 zo2 daai6 hok6 1E g B Ik K 22

3. I have met him (before)

ngo5 zil cin4/ ji5 cin4 gin3 gwo3 keoi5 FZ Hij/LLRI HiE1{E

4. They won the first prize (last time)

keoi5 dei6 soengb ci3 jengd zo2 dai6 jatl ming4 {EME E X RIESE — &
5. We were still small [sai3 go3 #{#] (then)

ngo5 dei6 go2 zan6 zung6 sai3 go3 F Hh M FE {4 {E

6.1 used to be a nurse [wu6 si6 i 1=] (originally)

ngo5 bun2 loi4 hai6 go3 wub6 si6 F A AR 7 1

7. We will contact [lyun4 lok3 Ei#] you (next time)

ngo5 dei6 haa2 ci3 wui5 lyun4 lok3 nei5 FH T & Bf& R

8. He got angry [naul #] (immediately)

keoi5 zik1 hakl naul zo2 {E BN Z| B8

9. I will treat you a meal [ceng2 sik6 faan6 i5"Zfl] (in the future)
ngo5 daib si4 ceng2 nei5 sik6 faan6 T 55 RFaf R Al

10. We used to live in America [mei5 gwok3] (before)

ngos5 ji5 cind zyu6 hai2 mei5 gwok3 F AR {E R = Bl

11. | planned to go to Taiwan (originally)

ngo5 bun2 loi4 daa2 syun3 heoi3 toi4 waanl FAZK FT 5 518

12. 1 will go to Hong Kong (next time)

ngo5 haab ci3 wui5 heoi3 hoengl gong2 F& T k& 25 7 ik

13. My father arrived home (just now)

ngo5 baa4 baal ngaam1 ngaam1 faan1 zo2 uk1 kei2 F¢ 25 &5 kg g IR W =1
14. | liked swimming (then)

ngo5 go2 zan6 zungl i3 jaud seoi2 M BE &8 = 57 K



Ask: How often do you

Answer with with frequency we just learnt

InG)  sid
jatl si4 si4

jatlci3

tungl soengd

l&oi hang
tiu mou’
jing soeng
sdeng mdng

AT (travel)
B (dance)

¥ 48 (raking photographs)
L # (surfon the Internet)

°a K (sing Karaoke)

& (play guitar)

B (watch movies)
iT#  (play video game)
E  (read books)

f1i#&  (play ball games) |

Jau4 seoi?2
7K

swimming
Zoub gym
fizgym

Go to the gym

Gin6 sanl

ey

|

Go to the gym

Zyu? je5 sik6
ABR
Cooking

Haang4 saanl
1T

Hiking

Caai2 daanlcel

PREEH
Cycling

Tengl jam1 ngok6
T8

Listen to music



sai3 gwo3 ngo5

baat3 lau2 hou2 gwo3 ji6 lau2

nil deoi3 gwai3 gwo3 go2 deoi3

Jenny sai3 dil
baat3 lau2 hou?2 dil

go2 deoi3 gwai3 dil




nei5 lek1l gwo3 keoi5 hou2 dol
keoi5 goul gwo3 neib siu2 siu2

ngo5 daaib gwo3 keoi5 jatl nind

nil go3 cung5 dil nil go3 cung5 gei2 pui5




gam1 ci3 zungb hou2 gwo3 soengb ci3

gam2 joeng2 zung6 hou2 dil




Translate the following into Cantonese

1. It’s warmer today (nyun5 FZ)

gam1 jat6 nyun5 dil 4 H B2

2. She is happier now

keoi5 ji4 gaal hoil sam1 di1 {E T 3R B /O I

3. My friend is older than me

ngo5 pang4 jau5 daai6 gwo3 ngo5 F A A K

4. She is much taller than before

keoi5 goul gwo3 ji5 cind hou2 dol {E & 18 LA BT %

5. It’s slower this time

gam1 ci3 maan6 dil 4 & Il

6. This restaurant is cheaper than that one

nil gaanl caanl tengl peng4 gwo3 go2 gaan2 WE [ 48 s 21k HE
7. Cycling is better than walking (haang4 lou6 1T#%)
caai2 daanl cel hou2 gwo3 haang4 lou6 EREE BB 1B 1T &
8. Your idea is better (zyu2 ji3 £&)

nei5 ge3 zyu2 ji3 hou2 dil {RIEE 3= = 41 1



Make the following comparisons more explicit using the adverb
given in brackets:

This year is (much) colder [dung37#] than last year

It’s (much) warmer [nyun5 #%] today

Your hair is (a little) shorter [dyun2%5] now

Hong Kong is (several times) more expensive than here
I’'m (even) more tired [gui6 ¥ ] than she is

Eating rice is (even) cheaper than eating noodles

She is (5cm lei4 mai5 & >k) taller than me

My elder brother is (20 pounds bong6f3%) heavier than me

O NOUAWNE



Tell us:
What you planned to do last year but couldn’t do.
What activities do you like to do? How often you do them?

Compare yourself with your family member/ friend
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Who
what
Where
Why
When
How

How many/ much

Binl go6

Mel / Matl je5
Binl dou6

Dim2 gaai2

Gei2 si4

Dim2 (yoeng2)
Gei2 dol



